

Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #1 Permit # 16-4872

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 2,880 sq ft x \$1.29= \$3,715.20

Use Determining Fee Calculation= Mini Warehouse

Signature _____ Date: July 3, 2017



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #2 Permit # 17-2150

Fees (below) were calculated based on an application date of: 5-24-2017

Transportation Impact Fees: 126,000 sq ft x \$1.33= \$167,580.00

Use Determining Fee Calculation= Mini Warehouse

Signature _____ Date: December 18, 2017



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #3 Permit # 16-4873

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 4,800 sq ft x \$1.29= \$6,192.00

Use Determining Fee Calculation= Mini Warehouse



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #4 Permit # 16-4874

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 4,800 sq ft x \$1.29= \$6,192.00

Use Determining Fee Calculation= Mini Warehouse



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #5 Permit # 16-4875

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 4,800 sq ft x \$1.29= \$6,192.00

Use Determining Fee Calculation= Mini Warehouse



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #6 Permit # 16-4876

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 4,800 sq ft x \$1.29= \$6,192.00

Use Determining Fee Calculation= Mini Warehouse



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage and/or unit count

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it Storage bldg. #7 Permit # 16-4877

Fees (below) were calculated based on an application date of: 12-20-2016

Transportation Impact Fees: 2,880 sq ft x \$1.29= \$3,715.20

Use Determining Fee Calculation= Mini Warehouse



Please complete this form for each Commercial/Multi-family project that requires impact fees. Please route in the following order:

1. Plans Examiner: Complete Square Footage

2. Planner: Complete rate and explanation of rate (if needed)

3. Permit Tech: Enter rate into HTE and create fee Project

Name: Secure-it storage office bldg Permit # 17-0685

Fees (below) were calculated based on an application date of: 2-22-2017

Transportation Impact Fees: 1,000 sq ft x \$1.33 = \$1,330

Office is ancillary to the primary use so the primary use impact fee rate is being applied.

Signature _____ Date: July 3, 2017